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’ Instructions L e '
1. “"Answer all questions. 11 |t Y S SRR |
2. All questions carry equal marks _ F‘ﬂ'm% . 3 _
3. In this booklet, the questions from 2. S WM & | ~
serial no. 1 to serial no. 10 are related | 3. 39 Y% Y& # % 1 4 F9iF 10
to general awareness while questions W Y M AEE & qA FHF 11
from serial no. 11 to serial no. 70.are . Wl:owa}qu-qq m% |
subject specific. 4 -9 T S R Yfous s E R
4. Each question has four alternatlves pome (IR AR L PR LN
~ marked as (A), (B), (C), (D). - . (A),(B),(C), (D) R fFm TR
5. . Choose only one alternative as an | 5. WW&T{W@WW%W’Q
answer of a question. |
6. If more than one answer is marked, ’
" then it will be treated as wrong 6. m%ﬁ%w%ﬁﬁmﬁmmw
answer. ' © TTrd | S |-
7. Candidate has to darken onlyonecircle | 7. 34l =1 W& W T Ha@ Eq'? e 'q'?[
' indicating the correct answer on the | ~  l.UH.3W. sﬁzmﬁﬁmmwﬁq
OMR sheet by using BLUE/BLACK a%m% |
BALL POINT PEN. _ : =0
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_ University norms. . 10. et 3o I TR T I aﬁmﬁ?ﬁ
10. .I;lfgase {“111 yourfRﬁll Nooiﬁg ciilsher - S.uH.I. e W wEyrEt ¥ R
. - 1nformation caretfully on , sheet 'SHEFI
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1. Wthh of the following has won ]

Puhtzer award for Natlonalv

‘ 'RePOrtmg for 2016 ? |
| '__‘:X(A) Wall Street Journal . '
v .'(B) Los Angeles Tlmes Staﬁ‘

“‘ (C)‘Thg : Guardlan

| }.,*“(D) The Washmgton Post -

' 2 'v World Hemoptha Day is observed :

;on whlch data ?
| .(A) Apnl 2
(B) January 17
(C) Apri,l 17 .
. (D) June28 -
3 | ‘Laughmg gaa’ lS
- . (A) Nitrous oxidé
B _(B)‘Ni‘trt.)’gea ledee A
N (C) Nitric oxide |
" ., (D) Dinitrogéh tnoxlde
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.“;ﬁwﬁﬁmmﬂq}ﬁnzom%
-mmmm% 2
‘(A)W@ZW
_‘ _(B) HTH@FH?JWW
..:(G)?{"Trﬁﬂ

(D)a aﬁmavmz

..‘-faﬁmmmmarﬁaaﬁ
'-mm%7

;(A)",aﬁa 2 o

(B) Wﬁ 7

(C) aﬂﬁa 17
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. - Lingaraja temple is situated in

| which city ?

| | (A) Bijapur |
(B Bhubaneshwar
© Kolata
B») 'Sl'lravangbelagolab
Coﬁplétt; the follqwing proverbs
- phasés o . |
First déseﬁre thep .........
(A) ‘de“sir._e‘ |
(B) ,xlob
(C) give

(D) snatch

Choose the synonym of ‘Valour—

(A) Wise
(B) Cowardiéé :
: (0 Couijage,

- (D) Desire’

7-ABST

. mwﬁ'{fﬂIWﬁmﬁqﬁ%7

(A) m

B) TR
©) wewE

. fr Ry T qER R

First deserve then ........ N |
(A) desire

B).rob

'.(C)'give’ |

(D) snatch | |
. ."\Valour’ w1 FEr gﬁa—
@A) Wi:se"_."

(B Cowardlce

(0 coma;e - |

(D) Desire



B ,- Choose the appropnate re]ated word 7. ﬁgmﬁm ﬁ 'ﬁ Zﬂgﬁ W gﬁi—-'
from the given optmns '

SOCIAL : OCIALS . DRIVEN : ?‘
W VENRID,_

f_jsocm OCIALS : DRIVEN ?T
' (A) 'VENRID | |

| - -7. o ' (B) RIVEND
() RIVEND . °

C ©vme (©) VIREND
@"(D) NEVIRD | © NEVIRD
Inaeerbamcode 2, 5, 6meansredv‘ s -"._'Wmih 5 6"5‘3"‘?%“3"‘“'
colour pen; 5, 8, 2 means green | . '(‘Tﬁ‘f 5, 8, ZWM%—'EUWQW'

. colour pen; and 2, 4, 5 means blue | ,‘cmrz 4 smmﬁ%—ﬁmwﬁmmf
colour pen. Whatdlgxtmthlscod.e,f}f_ ~ﬁtm=ﬁ@maﬁa¥ﬁ'ﬂ7
stands for the colour blue ? o \

W BRI ws
w2 ] _""‘B’,z' |
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Co:tnpletethe number semw—-— e m Jaen w T’f W“‘

| ,5,'.6,‘.11, 66, 9;-7,,1.6,?‘ " : -5, 6 11 66, 9, 7, 16, ?
@ 112 h o Y(A)_';"Z
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11.

Whi.‘ch' venn diagram ’rig‘htly

'repfésents the-relation between the

given eategories ?

Man  Bird Life

“Going concern  concept” assumes

that 'the: life of a business

organis_ation_ is :
(A) Infinite
(B) Short term -+

(C) Limited

D) Noﬁé of the above

T-ABST
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| _ »(A) All prospectlve losses but does' 1

The “concept of conservatism” takes . |

;in'tovconsideration A G

o not consider all proSpectlve

proﬁts

(B All proépectiye profits buft‘ doés : f

not consider all prospective

. losses.

‘ ;(C‘) All prospective proﬁts- and all

1.

A

_ prospective losses.

| (D) None of the above_

When shares are forfe1ted, the share

'forfelted account is credlted by
’ (A) Cﬁﬁs—i@atre&fs o o

"(B) Called up amount -

RN

(C) Paid up amotnt . -

D) Face valﬁe Aof. theshare :

. T-ABST
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(&) wh T v

‘\"(B) aﬁwﬁammaﬁwﬁa,
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14. Given the followmg relatmg to a| 14 Led quqpﬁ a;} :gzsi ¥ ey e %

trader :
- Closing capital ’ . Wﬁm '6 60,000 .
’ kbalance . Rs. 60,000 aﬁ % m 311'6'{“! 'F. 10}000 )

Drawmg dunng the ﬁ%ﬁ'{ﬁ ﬁﬁ ‘@Fﬂ s

 year: Rs 10,000 .| | -
L ' % S,OOO
Additional capital introduced o ‘I‘ﬁ - RS
durihg the year : " Rs 5,000 | CLRC G . 20,000 o
Profit for the year : Rs20,000‘. - mamr{‘raﬁ ﬁ ‘{"’ﬁ ot
- The opening capital of the trader |- . e
was:. L R . (A) % 25,000

- (&) Bs. 25000 | @ w0
 (B) Rs. 35000 o
. . (C) ¥ 45,000
(©) Rs. 45,000 RIS

(D) Rs. 55’000 ,: ‘D) = 55,000“ ;

15. Accounting Standard-9 is related to : |-15. &N -9 Watuw ¥ :
(A) Disclosure of accounting policies | (&) giel ﬁﬁﬁm m ﬁ
(B) Revenuérecognition - "“ ‘(B} <] Eﬁ TwwEE 9

© Accoun_tipg for amalgamation | (C) TR % wEieT q |

(@) Name of the above 1 o i w

7-ABST - 8



16 “Debenture Stock” indlcates that . “W Rﬁ;' sﬁla T#RIT %u_},_‘ i

' "(A) Debentures arepartly pmd . ‘(A) iEJI fi ﬁ %

,(B) Debentures are fully pm ,
~(B) W ‘I}’fﬁl %

. (C) Debenturesarexssuedatdlseount :
| ‘ (C) B w2 u{ﬁtffﬁa %

) Debentures are__.;ssned at..A

S premim '_"-(D)Wﬁﬁsquﬁ:mt;"

. Dlsoount on_ issue -of shere ;s ' “&Qﬁ % ﬁ'f‘ﬂ £of 3{& %
| ‘(‘A)_ I_‘ss,tre expenditure 1 (A) ﬁ"f‘ﬁ W
B Tradingloss | ® ’aﬂmﬁs; i

: ©) Reve‘nue_ loss - o i ' ’(C) amma ﬂf;'l

(D)}.Capital loss - , | ’ ,‘A"',(E) t Elﬁ R
. To the eéxtent redémpi:ibn‘éf" 18. ,_ﬁmﬁ\mamawﬁmﬁmﬁmwwﬁ
4 'preference share takes place out of ﬁﬁmm%mmmm
C roﬁts an ual amount should be|
P “ _:H;m‘taﬁ"t%ﬂfs#

g ‘jtransferred to : |
. (A) Development Reserve: Amount ,’ ':(A) ﬁasm W W ﬁ
" (B) General Reserve Account | ® m v . ﬁ
(C) Capltal Relerve Account 1

- (C) It W aﬁt ii
| '.(D) Capltal Redempﬁim Reserve 1

Aecount

‘j(D) b vﬁuw = ma ﬁf‘_s“

7—ABST




19.

20..

Given the following data :

'581210025151779
‘ “the Geometnc Mean will be :
@ 10 |

® 5

- © 0

D) 11

The sum of deviations \taken from

Arithmetic Mean is always :_

(A) Zero

 (B) Least ..

ot

© Cannof be calculated
D) NOne ’ofb 'thé above
Square root of the Anthmetxc Mean ’

~ of the squares of deviations taken

from Anthmetlc Mean is called :

- (A) Mean Deviation

~ (B) Quartile Deviation -

(C) Standard Deviation

(D) None of the abové

7-ABST
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19.

20.

21.

581210025151779
WW'@H‘:

@10

_'(B) ‘5 ,

© o0

D) 117

mﬁmmﬁf@nﬁﬁaﬁmm‘
T dm e

(A)' Ll

‘('B) =

(C)nw@m‘ﬁ”f

'_'(D)wvj,aaﬁﬁaﬁéaﬁ

mmwﬂfa&nﬁﬁwﬁ%_

| ,'ﬁﬁmmmmﬁam

¥ i
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o 22.. Coeﬁit:iénfofvariation is-a;meaéuré‘ 22 oo W@W%
| O | - (A) ufa
(A) Consistency R
| o r ‘('B)f f’@zm H
- (B) Stability
" (C) Uniformity (C) EE
D) All of the above - AR o (D) W qsﬂ @ -
23 Ina question 6_f~ correlation, fthe ~ '23- vw % = Tﬁ ﬁ" O I |
E _v‘alué of A_'r' is 0.64 and its préhabie v 0.64 TUT IHHT '.gtqra[ f‘an.]'q | _
: rerror"v(PE)._is»O.1,3'12. What is the 01312 %I N' 'FI'FI — z’lm 7 -
value of 'N' ? - e L
o @
A9 SRR :
®.10 ®) 1
»(C) 1 R .<(IC_)“ "o ERER
o 12 ] om
o 24 'Which of the-follovﬁng is »tr‘??éd gs, ‘ 24. ﬁﬁ'ﬁ'@t’%’\‘[ m“aﬂfém E’Wﬁ' '5531
v‘,‘vEco'I'n.)njic,Ba'rometer.’»’v? o = 'Gﬂai % 7 _ |
(A) Correlation . . = | ‘(A)“ W E
© (B) Regression - | '.,(B)'q‘%ﬁwﬁ Lo e

.(C‘) Index Number | (© E

(D) Standard Dev;:atlon : . (D)W forarer P .




.26

In “Tlme Reversal Test” of Index

vNumbers, the Poy x Pyp should be

| equal to the foll,owmg D

4) i

® J’
""(C) 3
- J’

' »'(A) Tlme Reversal Test

'7 ‘(C) Clrcular Test
o (D) None of the abOVe s

o7,

(B) Factor Reversal Test_ -

A Geometnc m'ean

'.Whlch of the followmg tests is-
' not satlsﬁed by the: Flsher Index 1

Number

_"The sum of square of dev1atlons

‘taken from whlch average 1s least ?.

- (B) Harmonic mean e

a -,.(C) Anthmetlc mean

7—ABST

(D) None of the above r
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28— Gwen thé'* follo wiﬁg‘v: } :ff |
. Rank égnfelatidn 'cééf‘ﬁcignt« =06 | aﬁﬁ Wu gvnaﬁ

. S“mof square of rwkdlﬁewm=66

S S

The number of items (N) equal to : |

L@ 11

| ‘(B) 1z

| '29 Ifbxy ='-o45 and byx =,5.—080

the cerrelatlon cueﬁclent (r) equal

(&) +04 e
(@) -04

A‘ia»’f&cﬁ % swd =l - m - ee‘_-_}

120

Wy

<A>+ 04 3

- ﬁﬁ;ﬁmm W‘Tﬁ@’"

o

(D) 12

wﬁbxy -'—-O45?Mbyx _‘—-080% S

o
?ﬁ W uvna; (r) asr m éfm

o ® . L" .

 ® -0

© 06




30. ‘Given .the. following for the

“Newton’s method of advancing

S differen(:es” :

' Item of origin

Item of mterpolatlon : 22

leference between two adjdin'ing_' |

items : 5

Fbr’interp(')létion the value of %’

~equal to :

@) 14

(B) 114

T (©) 36

I

~

D) 4.9

31. The Income Tax Act was éppﬁcable

to wh_olé ‘of India since :

(A) January 1, 1961

(B) April 1, 1961

(C) January 1, 1962

" (D) April 1, 1962

7-ABST

- 14

b a1,

ngﬁwrﬁamtﬁﬁr %fwzﬁw\

‘.aﬁriﬁmﬁa';zz
Y T : 15

ﬁm?ﬁaqamms

A) 14

"(B) 114
C) 36

| (D)'4.9

mafaﬁuqmmﬁm#
uﬁw%’

: (A) S 1, 1961
®) W 1, 1961
- (Q) SEd ‘"1;,1%‘2

D) e 1, 1962



o2

“Pin Money is not an Income.” The .

) statement s :

* (&) True
(B) Féﬂse'
() Uncertam L A _

.83

»,_”(D) None of the above :

Which of: the followmg allowances is -

' _'exempted on fulﬁlment of certam

‘ _'condltlons under the head “Income }

._ (D) None of the :»above

~

£ from salanes” ?.
- (A) »Deamess‘ Allowance .
(B) Deputation Allowance

(O :House rentAl'_lowancé' ) |

_ Comm.ilsory Audit iof: acoouhts is

required when the ‘turnover of a

business exceeds :

"~ (A) Rs. 10000”»000 |

) (B) Rs. 50 00, ooo

(C) Rs. 2000000

(D) None of the above .A -
7—ABST | |

15

32. ‘R T T o T A T
A

: ®) a:w

'_ _‘(C) LD

(D)sq’iaaﬁ%aﬂéﬁ

33.

“éaa”éem"vﬁﬁaia‘»wfaﬁﬂﬁ

| lamwﬁmmﬁew-@ﬁm
’.W?ﬁ%’ | |
‘(A)Il?ﬂﬁw

® uﬁﬁgl‘aa sm

L .(A) %, .1,oo,oo,ooov_"§1

© o fewm
. ",.~'-='(D)3qv§amﬁam’r§aéf
oié{itﬁimaﬁmﬁa@maﬁm%m
) ~szﬁaﬁmaﬁiﬁ@ o

- ®) .'GQ..so,oo,ood *a

©) e 120,00,000 ¥
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35.

. asseééee must hold the equity shai'es_

For 'long-.t_erm cajpii:al» :gain,. the

for :

- 'b(‘A) More than 10 months |

_ (B) More than 11 monﬁhs -

' (O) More than 12 months

) “More than 6 months = - -

36.

The busmess losses can be carry

N ,‘forwarded and set oﬁ' w1thm

' '(A)_4;years :

B : (B) ‘6~’years.

- (C) 8 years

(D No limit

37

‘For 'the asseSsmeht year 2015-16‘7
the maxunum deductlon under 1.

’sectlon 800 is j

(A) Rs 50 ooo '

(B Rs. 1,00,000 . -

7—ABST

(C) Rs.- 11,50,000- R

o Rs. 2, 00,009

35

"(A) 10#1‘6@3@36

mvﬁmﬁfaq%m
aﬁmwmﬁ@mﬁamm@_r

. . .'.

“(B) 11,1313 } 3?&@, |

(© 12 7® & awﬁm -

BORE E

I s6.

'mﬁamﬁaﬁmmm'
.ﬁmmm%

| (A 4wt &

@ e

- (© 8w # .

| 37

7<maﬁ§m-r€f

'm—ﬁmfrm asf 2015- 16 & fenz am .
A-socﬁmmaﬁaﬁmm R

® %

o =

16

(A &

| '(C) k3

150,000
;1.,0('.?','00‘0'i - ’.’. e

200000
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38. Which: of:the followmg is not’}
" included in the list of donatlons for L
- which 100% deductlon is: allowed

under sectlon 80G ?-

-Fund

__(B) Natlonal Defence Fund

Fund

(D) None of the above

. 39 .
- vanable cost will be: equal to::

(A) 40% of. sales

- Total cost for producxpg 3000 umts |

© 70% of sales

If contnbutlon is 30% of sales, the

"(B) 60% of saies

D) 130% of sales f:”f‘
| .57_;: Given the followmg -
e Total cost for producmg 4900 umts j

= Rs.14 000

S Rs. 12;000

(B)Rs 4

. (O Rs3

o Rs 2.
7-ABST
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o 80G e w e R A
":"".1oe%aaeﬁ%mmmwﬁmfl
ot o

o , j'.'j(A) aneM1mt.erD htRehf }- ] .
. s_ m‘_lg _ e __(A)naﬁ:rsﬁq@rmzm

(B) wﬁw ﬂw W

.f__m)aqgaawﬁéwa .
j-qﬁmmm 0%, amaaama-;
- "(A) faaﬁ-am 40% e

- ® fot W 60%
"‘(C) faaﬁ o 70% Canen o
'(D) faaﬁ *ﬂ 130% 7'}. | |

o .MWW%ﬁﬁaam =. 14,000"-'-.
5 ‘mmmﬁaﬁmm '6 12poo

: Thevanablecostperumtequalm '

| ,_,(A) & s. G
~(A) Rs. 5 .



41,

A budget that glves ‘the summary
~of all functlonal budgets is called :

(A Capltal Budget '

(B) Fixed Budget |

~ (C) Flexible Budget ‘

42,

(D) Master Budget

The item does not appear in the.

.. contract account is :

43.

- ©

A

| ‘(A)_'~ Work Certified

(B) Work Uncertified

| '(C) Cash Reeeived;rom‘ Coﬁt}acteé
D) None of the above |

Ifthe certlﬁed work is less than 25%
- of the contract pnce the profit to be

' equal to :

of profit realised :
B) 7 of proﬁt' realised

of proﬁt reahsed

plwwlwwli-‘

(D) No proﬁt is to be transferred

7-ABST

‘taken to Proﬁt and Loss Acconnt |

18

41.

g e S e e i  w
T A ¥, e b

Q) Pt wE

(B) e aaz '.

(C) rvﬁ%wﬁa T

42,
e %

43.

| (B) eaﬁﬁ ™ 'm’r_

(C) sfSE T

(D)mzztaaz

%Wﬁwmﬁﬁmw

(&) wfom Em!f

(B) Wﬁmﬁ

(C)mmﬁww'rrﬁt
(D)sqéaaﬁaﬁéﬂé
aﬁwﬁmm%mw%%%ﬁ

R, aww—aﬁ@ﬁﬁamﬁaﬁr
o a

(A) sﬁa s ED

| W c.one cou-. o

@) o R @ A e
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44 The order quantity at WInch the
"total ordenng cost is- equal to the | I
%

’f','totalcarrymgcost wknownas T R S

. (A) Maxlmum quanuty

. (B)7 Mmlmum quantlty

- ‘(C) Economxc order quanuty

(D) None of the above o

-Rate.

S (B) Separatlon Rate+ Replacement* |

Rate

(C) Separatlon Rate Replaoement

Rate

(1)) S’eparation _Ra'te %’Replgtgemeht

" Rate -

' “When time taken by*é‘worker‘is 1

bonus under ‘Halsey and Rowan 1
Plan is equal The statement is: |
. 1A) False ) |

® True
() Uncertam

o .,(D) None of the above

5. Flux rate of labour tumoverls equal 1.
- _'to : : 1
(A) ‘ Séparation‘ Rate x Replaoement 1

19

44 ﬁmwaﬁmmmw ‘
'Wméw@?ﬁ% Wﬁﬁ-.

A}

. ® A
) s EoR N

ﬁ@aﬂéaﬁ

am frareh aﬁ # e w ﬁfa b B

| '.-(A)guaaﬁmatxmqaat” -

1.

f (B) qmﬁww at + mm zx :
(C) HWWH uﬁmmat‘i“ |

'(D) qaaa-ﬂmwavmﬁwqatt;"

*. . equal t 50% of standard time, the |- mv%m%a%ma ﬁmm
. | ',.Wmﬁﬁmmm:w

-.w%
."‘-(A) amu

]l ®
.A"~‘(C)%m$_;

,-’(D)mﬁaaﬁaaagqa




47

48

< (A)

- (B)

~Simultaneous equation method is-

'used when the service departments

- have :
R_ec_ip'roca‘l ayxfran‘gement of
services ~’
No remprocal arrangement of
semces ' '
v:(C)“.Transfer to productlon

departments only '

(VD)J None of ‘the-a’bove o

For the caiculatiéh of '“Machineb

Hour Rate” the machme settmg time-

18 con51dered as :

’ ,(A) Productlve T1me

49.

 7-ABST

B Unproductlve Tlme
(O Unneoessary Tune |
(D) None of the ‘abové 1

'In transport costmg, the average

"load” isused in :

(A) Absolute tonm_e‘ kilometer |

(B) - Commercial tonne kildméte;'

© ’lFix,ed tonne »kiibmeter s

(D) None of the above =~
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: j;' 50 _Which of ‘tl‘xe_‘ foll\ov;ing*ﬁl?pur | 50 ﬁq 'Ei i’t a;ﬁqm gm ﬁam" ginm g}
o '*'ﬂ‘;',’\r‘aﬁahce” is always }ad'vé‘rjéé"'? b W M 2 " -
e -(A)J,’Labour'-Cosil: Vaﬁéﬁce‘:-_ﬂ' . : ) (A).gfq m fqam /
- ®) Labour Rate Vanance | . - -
" (C) Labour Idle Time Vamnoe - ’*(C) il mz'h w ﬁﬁm

(D) Labour Eﬂiclency Variance 1 ,(D) o W&ﬁl ﬁmw

‘ . The »preparatii_on of caéh'_'flow , m WI’G‘ ﬁ?@w £ %WIR m
| statementis gverned by :© | fiRa am% i

(&) Accounting standard2 R @)
. ® Aooountmgstandmdg - | | l'(.B).?1@1‘1=n=|m-3‘.%‘.\‘“i.
(C) AccounhngstandarcM - | ,'\f,(e) aar -4 a’;_" R
3 ’.‘(D) Aocountmg standardé;,‘,; ‘_:;»{D) a&r -5 a.{
. Acnd Test Rat:o” measm!es' - 18 m e aﬁm W %
- (Bv),.‘Solvency‘. e --V(B) !fmm
| (O Liquidity G '(C) -

: ('D) Efﬁclency e o (D) W




63.

When the quick ratio is 1.5 : 1 and

o the amount of quick assets is Rs.

S o .
9,90,000, what is the amount of

current liabiiities ?

* (A) Rs. 14,»85,0(_)‘0'.

-54.

- (B) Operatmg Leverage Fmancnal_

55.

(B). Rs. 6,60,000 -
(C) Rs. 3,30,000

D) Rs. 7,50,000

. Gombihed Leverage is equal to :
~ (A) Operating Leverage + Fmanclal

Leverage

Leverage

(C) Operating leverage x Financial

Leverage

(D) Operating leverage + Financial
Leverage

The fouadatiOn‘ of irrelevance of |

o capital structure in “Modigliani—

Miller Approach” is :

“ | (A) Corporate Leverage

7—ABST

(B) Arbitrage Process
© D1v1dend Declsmn

D) None of the above |

22

'53.

mmmwmﬁawm

et <. 99ooooﬁ€r ﬁraﬁ'ﬂﬁ@
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(A) ‘6; 14,85 ,oop

CB) % 660000

(C) T 3,30,000

O % 750'000' .

54.

55.
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56 Whlle evaluatmg capltal budgetxng"
o alternatlves, the tlme value of'

: money is cons1dered in:

@ Pay-back‘ period

. / (B) Accounting ‘_rate of ‘returin‘

©) . Net-present ‘vahie | N

N @) None of the above L ."

- 51,

A hsted company shall not appomt

o aud;tor for :

@ More'thanﬁveconsecutive’years

e (B) Mo:;e than s1x eonsecutive years 1

”FQA(B) He 1s an. employee of the

(C) Momthanseveneonsewﬁveyearsb »

' ’,(D) None of ‘the above

A person shall be eligible for
apﬁointment

company only 1f

comapany

(C) He isa partner of the company

;(D) He is a Charbered Awountant
7—ABST

" (A) Hei 1s an ofﬁcer of the company 18

'23

56.
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,(A)ﬁéaiaafhﬁ

‘(B)é@mmaazﬁ :

| ,“._(C) w adar L ﬁ
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. or re-appoint an 1nd1v1dual as | -
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| (A) SR asﬁ 2 srﬁm |
. j(B) TR B L ﬁ 3Tﬁ=F=F

o (C)mmaﬁf‘ém
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| s8.
of audltor of- a . '

T e P sitew aff
"ﬁ‘mﬁﬁ'ghamvﬁ%ﬂﬁ |
| (A) T® wﬁt = awﬁzasrﬂ %
~. ’(B)"%'mﬂ‘l*mﬁ%
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59.

60.

. 6L,

(C) Comptroller and Auditor |

7-ABST

An internal auditor is appointed
© by : '

" (A) Shareholders

(B) Management

(C) GOvernment

" (D) SEBI

Remﬁneratidn' of the auditor shall |

(A) Board of Directors

(B) General Meeting.

' (C) Government

(D) None of ‘t_he_ above

Auditor of a Gov‘erﬁmgnt company
 shall be appointed'by ¥

(A) PreSideht _‘of India

(B) Prime Minister of India

General of Indla ‘

(D) Secuntles and Exchange Board |

of India
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(D) Conventlm‘ af
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68. leen the followmg

() 397 :

69.

70.

7-ABST

Workmg capltal
Total liabilities :
Long-term liabilities

(A) 497 :

(C) 297 :

D) 1.97

The current ratio is :-

1
1
1

:-1

Rs 31, 500
Rs. 81,500

Rs. 62,5600

(B) Central Government

Given the following : ,

Profit Volume :(P/W ratio = 30%
Margin of Safety (MS) ratio = 50%
The profit ratio will be

(A) 70%

(B) 50%

(C) 85%

D) 15%

Cost Auditor of a‘.company is
appointed by :

(A) General Meetmg

(C) Board ‘of Dir‘ectoi‘s »

(D) None of the above -

68. e 9@ %
mafqa : % 8‘1,500

69.

(B) 397:1
(©) 297’- 1

Frve §&f-: % 37,500
ﬁﬁ%‘l’éﬁ?aﬁﬁ % 62,500

(A) 497 1
(D) 197 1"‘

ﬁwsrrat
mmm—so%

7‘3{@% T = 50%

'mmmm

(A) 70%

- (B) 50%

70.

(C) 85%
D) 15%
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